]ﬁ«oé(a«ﬂs brmg Leb#2|

M”fﬁ At R P Tomnt (1o 1% )
7 QO [N
@\)
" 7%

S £ = 4 53¢ 400 N
X"' oC o

Ay =0° = ﬁx"’sgg %
ZFJ—.: ﬂj=0"-’5 /QJ =9

2/‘2 = Yoo Si7 35+ 4z=o~:)42= — 2204

_ = = 0 AJ-n7
5./74[4)(: go +rfg,=o > ",

= = 400 5in(35°)(20) + 7Ry =0
MQJ = ¢S, 2 /\/’t’y]

é‘ml‘g]




7‘40 e Oall Toirt

e
f5-in \"e\lb (b P, P 71000
AlA 12" 2f = (04A O
y @ﬁxc—‘fo /b
Ax
J 5,2 = o+ Ay =0
47; % 4(7 ._;_.\Zéo/é
Z/‘Z":.O v
ZM//?,X::O v/
ZM//Q]’-‘-O v
smla, = —yol1z) + ££0 =P d

b
Ft‘i o b

Ygo [b-i
v

Hotb 1Y



?MA;[ St (o Mad:'mﬂx

[0 N-M
soo N/
> F)( =0 v
= F :ﬂJ:D = gg"'o
2/2/ = {od-f-/}z =0 => ’42-:;—5’00 A

ZM/AX = Mp, +S00(.0z2)= C=> Mp==/0 N-m
2M/A = [0+ —S‘bo(a,a.):owv] = 90 W-m
Y 7 b

Zm/pri_: /‘y)ﬂ% =0 B My, =0

Fo V-




= _so0 /b
=0 = x =
o +Ax
EFX: so

= O
- Sy =
G =0 4 > A, =100 /b
= F - J o0 ,‘—ﬂ& =0 = /b_f%
| £ = ZSooi= § /”A .
2 /7 - '

| = 60 +MAy P
2mqu ) 6 = O

— 300 (14) +»/00(/2/
ZM/AJ' =

Sop %

Jo0



